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* MCR Gate System ¥ U 7 Vilfg
* Processing fi] 4~ 7' v
* BrIFEEREE Ver3.3
*/

/] IV TATATT) R ANS

import processing.serial.*;

// myPort (%) L W5 4 v 2E2 v 2% HE
Serial myPort;

intx; /BB X BEEEDZ R % A%

int NUM = 6; //& v 3 — D

int[] receivedData = new int[NUM]; [/ v ¥ — DAl & KAN 3 % Bl
int outTime m = 12; // OUT 2 — x>

int outTime_s = 34; // OUT =2 — =:f

int outTime_c = 56; // OUT a—Z:& v 5

intinTime m =01; //IN 22— X%}

intinTime s =23; //IN 22— 2

intinTime ¢ =45; //IN 2—X2:% 5

[re================== {RE —=================*/
void setup () {

// YA X

size(1080, 780); //1024x768 72 & T 23tIn 3

textFont(createFont("x", 15)); // HAGEZFK R H, N—Ya v 7 v 7 TCARE?
//frameRate(10); // 1R 10 | draw(OEAT (5 223 Lz o Td)

/] VT AE— b DFE
// Arduino 2MEFE I N T VB )V TAR—MCHbETEXIZ 2
myPort = new Serial(this, "COM3", 250000);

void draw(){



/] ZA53 v 7 7 B b R 2RO AN
outTime m = receivedData[2];
outTime_s = receivedData[3];
outTime c = receivedData[0];
inTime m = receivedData[4];
inTime_s = receivedData[5];

inTime c = receivedData[1];

/] 3,y FHDAT AT DT — 22 EEHERICKHS
String outTime = nf(outTime_m, 2)+":"+nf(outTime_s, 2)+":"+nf(outTime_c, 3);

String inTime = nf(inTime_m, 2)+":"+nf(inTime_s, 2)+":"+nf(inTime_c, 3);

println(outTime); /] TNy Z R
println(inTime); /] TNy ZRICH T
background(255); /] HREREOQHTEY OLT

//===0UT a2 — 2 & 4 LF ===

textSize(90); /] XFEHAX

fill(0, 0, 255); // XF:BLUE

text("OUT", 30, height*15/100); // KR35 7T F A b, x JEEE, y PERE

textSize (220); /] XFHA X
fill(0, 0, 255); // CF:BLUE
text(outTime, 80, height*40/100);

//===IN 2 — 2 &% 4 LFKR===

textSize(90); /] X7 A4 R

fill(255, 0, 0); // XF€:RED

text("IN", 30, height*65/100); // RR$ 57 F A b, x JEIE, y FEEE

textSize(220): /] XFHAX
fill(255, 0, 0); // XF:RED
text(inTime, 80, height*90/100);

void serialEvent(Serial p){
if (myPort.available() >=9){ // ~v & + Kffl7—% THF7 54 b



if ( myPort.read()

receivedDatal0]

receivedData[1]
receivedData[2]
receivedData[3] =
receivedData[4] =

receivedData[5] =

=="H') {

[/ ~y ZLFERROF L A0
= myPort.read(); // OUT: 535t 2 iA %

IJ}L”‘S"HX 5

= myPort.read(); // OUT: 5% A iA
= myPort.read(); // OUT: & v F i A &

myPort.read(); // IN: 53t & 3A &
myPort.read(); // IN: R & A A
myPort.read(); // IN: & v F 5 RIAH*/

int highl = myPort.read();

int lowl = myPort.read();

int high2 = myPort.read();

int low2 = myPort.read();

receivedData[0]
receivedData[1] =

I=

[
receivedDatal[2
receivedDatal3]
[
[

receivedData[4] =

receivedData[5] =

= high1*256 + lowl; // OUT: ﬁ.}%ﬁ&i&&

high2*256 + low2; // OUT: & iA
myPort.read();// OUT:+t v F#ii & iA

= myPort.read(); // IN: 535t & 1A &

myPort.read(); // IN:B &t A %4
myPort.read(); // IN: % v FFPE A IA A



